REX

EFH 2025/6/17

INATID

FSOAIL

F50AIL
[210315]

oP on il 1% 5%

F3h 20145F11R

N & W M =




D O (=)
_”‘a.,nlm;._j @_ m/.._ @ _\\ E | _@_ [ m.k____
__ / LM

8EFH 2025/6/17

FSO0ATI
e

1, 3

____ / —)




F50ATII b= 2025/6/17
1, E&Aa 210315
ME | WMaEsS i HAX HE | IREHM #E
T FFO1 |F50F#A 1 109,010
2 FFO2 [F50FvH/I\— T 5,740
3 FFO3 F501&&H/\— 1 6,360
4 FF14  |F50%&&A/\—1R 1 2,550
5 FF15  |[F50/&MR 1 1,920
6 FF16  |F50%1RA/N— 2 520
7 FF17  |F50UI#%% T 1,790
8 FF19  |F50E#X%) 1 15,250
9 FF20 [R=ILRFUDY (6016227) T 2,940
10 FF23  |FEOBREARRY 1 2,170
11 NO39 |A1IFwy T 1 170
12 FF28 [F50/Rk—RA/N— T 440
13 FF29  |F50AR—LTL—hk M BB ta A T -
FF30 |F50AMIR—LTL—hk M BB ta A T -
14 7021 O—RJwa T 650
15 7099 gL (ST-11) 1 170
16 F101  |#BURYIRIYF T 7,000 A
17 F153  |3PEMECTI—R 1 7,630
18 WY15  |EfZ1E6DER (ETW-15.0) T 170
19 NO41 |RAwFINyF T 460
20 NO48 |RkL—F 1 1,160
21 N514 |92 0L= 1 2,290
22 N515 |90 LEERFvy S 1 770
23 N624 [+ 1 2,290
24 TO56 |%%#EF 1 770
25 ZJ50 [(R—RNUR (10mm) 2 240
26 WA42 |75 (R1) T 630
27 NO49  |Ab-TH-2557 55mmi T 400
28 W063  |RANSIRILE (M6x20) 2 170
29 W083  |RAfIRILE (M8x25) 2 170
30 WA27  |7REFRY VRIVE (M6x15) 4 170
37 W68A  |7RATUTIEHRAL (M8X14M" U5ry7) 2 170
32 W245  |BRARIPNRL (M4x20) 2 170
33 W251  |[BAIaU (M5x8) 5 170
34 WAS55 |9vEDTRL (M5x8) 1 170
35 W4A4  |[ALI/AL (M4x12) 2 170
36 WC04 |/"AaFvhk (M4) 2 170
37 WW16  |EIRCHLLER (MLU16) 1 170
38 WL41 |RTFUTEY (¢4x10) 2 170
39 WN34 |Ei&iR (#4x5) 2 170
40 W68B  |7RATUTIEHRAL (M8X12M" Y5EAyY) 2 170




8EF#H 2025/6/17

F50AII
2, - E—YHER

Hm#&Es 210315




FS50ATI E3H 2025/6/17
2, FER-E—HER 210315
% | #M@ES mA T X }E | IEERM =E5
1 02F5 Faf—3 1 60,990
2 FFO4  |[F50##{fiR1—Ib 1 22,870
3 FFO7 F50&EXo0O0—)L—=\ 1 30,500
4 FF13 |F50x20—-/ 1 12,710
5 PMO8 220-—J)VAIN— 1 6,110
6 PMO09 2o0-)b=lF 1 9,160
7 PM11  |220—JLM 148 6,110 3E148
8 WO053  |/SAFTRILE (M5x12) 6 170
9 FF10 FE07IvARIDT 1 520
10 FF11 FEO0RSARIT 1 1,790
11 FF18 |xzO—ILEAEMRIVE 3 650
12 FO30 |7IvRRUVTRIER 1 170
13 NOO6 Fvvo (K-S) 1= 83,860
14 NHOO F Y ORIK 1 34,310
15 NSOO BIA20—JU 1 16,780
16 NOCJ Fry oM 18 22,110 3{E#8
17 70KS  |SEFVT 148 13,730 3@E148
18 W069 INAETTRIVES (M6x55) 1 170
19 WO7B  [FRANERILE (M7x53.5) 6 170
20 WE16 Urvhk (M6) 1 170
21 FF24 FS50AE—% (100V) 1 127,050
22 FM10 Hh—mRoTZY 18 2,810 21E1%8
23 FM16 |A—mRVik)Ly 2 2,810
24 FM17 AR WE = A 2 1,280
25 1035 JaM Uk 2 320
26 PM31 NS50-80AC ViR Y 3V 218 1 10,690
27 Rk Aii-24 507 450mmis 1 1,160
28 M HHf-29307% 930mmik 1 1,160
29 ZJ50 eV YA (10mm) 2 240
30 WO067 INAETUTRIVE (M6x40) 2 170
31 WOSN  |[7SAtRILE (M8x45) 4 170
32 WGO06 [FHEEE (M6) 2 170
33 WGO08 [FHAEEE (M8) 4 170
34 Wi62 |FEE (6X13x1) 2 170
35 WIST |FEE (8%X16%1.2) 4 170




F50ATI EHHE 2025/6/17

3, FEA HEES 210315

(4




F50ATI = 2025/6/17
3, #Ea 210315
ME | BmES L TAX HE | 1REHM w5
1 FF33 F501E&A T0PAMIN fF 1 50,820
2 FFOS8 F50Z(F/\1TA 1 12,710
3 FFO9 F50%2(F7/\17B 1 10,820
4 FF12 F50&£h5— 1 660
5 FF27 F50:EY/\RIV 1 7,630
6 1076 NYIZED 1 470
7 F401 )—<iRILF IEsHEY 1 940
8 G861 dT10R By IN— 1 400
9 PM55  |FzvF/NLT" 1= 2,550
10 ZJ50 R—ZXN\UR (10mm) 1 240
11 WO06B  |7SEJUTNIVE (M6Xx25) 1 170
12 W161 NAERIV (M6x10) 1 170
13 W556 [FSR/IMAU (M5x%10) 1 170
14 WD12  |[7"BFvhk (M12=%&) 1 170
15 WI63  |[FEE (6X19%1.6) 1 170
16 WI87  |FExE (17x28%3.0) 1 170
17 WH26 |KREEE (#26) 1 170




F50ATI EHHE 2025/6/17

4, 71y5 1 )—TER HIEES 210315




FS50ATI EHH 2025/6/17

4, NYE1)—ER 210315
Mz | HmES A UEP HE =i wE
: ONCTPS |Hvs—= 5076 3t 1= 34,310
0SCSPS |ZFULZAAYVI—R 1= 35,040
2 NO20 [fhv9IL—L 1 17,790
PM43  [f1voI\URIL 1 3,820 FEERLA
4 4067 |hvIHAR 1 9,160 e (K) A
. | 135076 |hvo% : - —
135077 |ZRFULZEAYYHA —
6 2471 |hvsEy 15 1 400
7 WN12 gl (#2.3%15) 3 170
8 9027 |AHvREY 1 240
9 9025 |AvHIEn 1 240
10 5079 |hAvsEY & 2 400
11 5074 |AvyO—3 2 770
12 NO23 |AveE 1 6,110
13 4072 |hwyIL—LiEHED 1 240
14
15
16
17
18
19
20
21 | ONRTPS [U—<—= 1= 27,960
22 PMK5 |[U—=Ls 1 12,200
23 NO27 |U—v iRy 1= 4,830 8
24 WL86 |2FUvsby (8x35) 1 170
25 WL57 |2FUvsey (5%35) 1 170
26 PM38 |[U—<H 1 13,730
27 WL87 |2FUvsbey (8x45) 1 170
28 WL59 |[2FUvsey (5x45) 1 170
29 50906 |U—viLYIER (8x10) 1 170
30 | WQO08 |#EEk (#8) T 170




8EF#H 2025/6/17

FS50AII
5, E—%aREFH BRES 210315




F5OA]I[ E3H 2025/6/17
5, E—58ERF 210315
ME | HoEs A UEP HE SAEES(H wE
T FM25 |\ v5 FM25=FM25T St LEms") T 16,530
2 FM1 6 jj_,—ﬁ‘yl-l-\}l/g‘ FM16T TEIEFELE 2019F48 KV 2 2,81 0
3 FM10 |[A—RyTSY 148 2,810 2{E148
4 FM17  |A—RyFvy 2 1,280
5 FF39 [XF—%(100V) =Hoft 1 26,840
6 FM41T  |RhyFTL— 8 2 650
7 FM42T |Z7vAhN— T 1,280
8 FF40 |7<F27(100V) 1 34,310
9 FF41 |z~—1 1 1,030
10 FF21  |¥vANR— T 10,820
11 FF22  |[1vFHANR— T 10,820
12 FF44 |ZEVRIL 1 16,020
13 NM23  [—Rr%v 1 6,930
14 FM46 |+ — 1 240
15 FF42 |77—Zhv—= 1= 14,740
16 FF43 |[EAvR£v—= 1= 12,850
17 S701  |R—ILRFPUVY (6200Z2) 2 710
18 1202 |[R—ILRPYDY (620122) 5 1,050
19 TM30  |IR—ILRPYDY (630427) T 2,240
20 W255  |BRAIMIL (M5%25) 7 170
21 W25B  |BAIMIL (M5%65) 4 170
22 WGO05  |IZRES (M5) 11 170
23 RS (IEU5) 2 170
24 FM47  |RPUVTOVY 2 170
FM14T |[U—ROAV (& A—RUILY & 21y F) 1K 400




